KEY HS 167 Exam 1—October 9, 2007


	1. False! 

2. nominal, qualitative, or attribute variable

3. scale, integer/ratio, “numeric,” or scale variable

4. a) value

5. d) none of the above

6. b) ordinal

7. c) Each possible combination of n individuals …
8. The 22,093 SJSU undergraduates (all undergrads @ SJSU)
9. The 209 participants in the study

10. 209 / 22,093 = 0.00946

11.  No. The initial survey cannot be trusted.
12.  Answer should reference either nonresponse bias, selection bias, or the fact that the sample will overestimate the true proportion in the population.
13. d) negatively skewed

14. 18

15. spread (or variability)

16. b) relative frequency

17. True

18. True

19. Stemplot (right)
20. M = 17

21. Q1 = 15

22. Q3 = 18

23. IQR = 3

24. FU = 18 + (1.5)(3) = 22.5

25. Yes. 24 and 44.

26. Upper inside value = 18

27. 
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= 20

28. −5
29. 25

30. SS = 720

31. s2 = 720 / (9 −1) = 90

32. s = √90 = 9.487

33. continuous 

34. 1
35. p

36. σ

37. 0
38. 0.7
39. Because we have 4 independent Bernoulli (success/failure) trials, and the probability of success in each trail (p) is constant.
40. p = 0.05

41. Pr(X = 0) = 0.8145

42. Pr(X ≥ 0) = 1 – 0.8145 = 0.1855

43. Pr(Z < −0.49) = 0.3121
44. Since Pr(Z <  1.26) = 0.8962 and Pr(Z < −0.49) = 0.3121, Pr(−0.49 < Z <  1.26) = 0.8962 – 0.3121 = 0.5841

45. X ~ N(39, 2)…What is Pr(X < 36)?
z = (34 – 39) / 2 = −2.5  
Drawing is optional (but helpful)
Pr(Z < −2.5) = 0.0062
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